
Note:  Rod is threaded 1/4"-20 on one end
to accept Tee handle stud & 1/4"-28 on the
other end to accept rod end.  Caution should
be used to avoid damaging threads by installing
parts in wrong ends

1/4"-20 jam nut

1/4"-28 jam nut

1/4"-20 half nylock

1/4"-20 full nylock

Mounting plate
provided

Existing roll bar tube
or frame rail

Master disconnect switch
#85-250 sold separately

Please read complete instructions thoroughly before beginning!
Installation Instructions for part  # 85-249 Push/Pull Battery Disconnect Mount Kit

CAUTION!!! - The most important requirement for a successful installation of this, or any, S&W chassis
component is that you take your time and use good common sense.  Check & recheck all measurements
before cutting or welding.  If you have any questions, before or during the installation - STOP - and call
our tech line at 610-948-7303 and we will gladly explain in more detail any step in the installation.

TECH & INFORMATION: 610-948-7303
ORDERS: 1-800-523-3353

OFFICE FAX: 610-948-7342
E-Z INFO FAX 610-792-1234

Components, Inc.
11 Mennonite Church Road

Spring City, PA 19475

S&W Race Cars and
Document # 912


